Design Assumptions for
Nebraska Base Drawing NE100-40-005
Concrete Pipe Support for Slotted Flume

Revised: 4/04 Replaces: 5001-17

Concrete Pipe Support for Slotted Flume

Pipe cradle slope matches embankment slope of 3:1 .



Instructions for
Nebraska Base Drawing NE100-40-005
Concrete Pipe Support for Slotted Flume

Fill in the following data fields to automatically fill in the necessary data
fields on the drawing.

Title block

Title line(s)

Subtitle line

County, State

Sheet number | Jof [ ]

Who / When
Who (initials) When (MM/DD/YY)
Designed | | | |

Drawn | || |

Checked | | | |

Enter directly on drawing

Left click on yellow boxes on drawing to mark with X as required.
Left click blue data fields to enter required information.

Clear Form Print Drawing

drawing only.



26 ga. sheet metal saddle

Beveled washer (1" dia. pipe
cut as shown may be used
in lieu of washer)

3/4” dia. rod, threaded 7" each end
with 6 nuts and 4 washers

NE100—40-005 Rev 4/04 Replaces 5001—-17

Nebraska Standard Drawing

SEE SECTION X=X

R (RADIUS) IS TO CENTERLINE OF 3/4” DIA. ROD.

ALL RODS, BOLTS, NUTS, WASHERS, PIPE SLEEVES AND
STEEL ANGLE LUGS SHALL BE GALVANIZED, OR PAINTED
[N ACCORDANCE WITH CONSTRUCTION AND CONSTRUCTION
MATERIAL SPECIFICATIONS.

. 3 x 5" x 3/8" ANGLE LUGS WILL BE INSTALLED ON THE

DOWNSTREAM SIDE OF THE PIPE SUPPORT.

ALL DIMENSIONS SHOWING DISTANCE FROM STEEL TO FACE
OF CONCRETE DESIGNATE THE CLEAR DISTANCE.

PIPE SUPPORT CRADLE SHALL FIT GRADE AND PIPE
CIRCUMFERENCE OF OUTSIDE PIPE DIAMETER.

DIMENSIONS NOTES
PIPE DIAMETERS 1
18" 21" | 247] 30"| 36”| 42| 48" ’
A |2-2] 2-8 |2-8[3-2][3-8[4-2[4-8
B [5-9] 5-9 [5-9][5-9]6-0]6-0]6-0
C | 3=6] 40 [4-0[4-6]5-0]/5-6]6-0 9
E [1-6] 2-0 [2-0[2-6]3-0[3-6[4-0
F_|0=9] 0-9 [0-9]0-9]1-0[1-0][1-0
G |0-3] 0-6 [0-6|0-3]0-6[0-3]0-6 3.
R__lo-10]0-11%e [ 1-111-411-7[1-10] 2—1
#x DIMENSIONS ARE FROM CENTERLINE OF PIPE SUPPORT. 4

Date

Drawn _ __ _ _ __ __ __ _
Approved _ _ _ __ __ __ __ __ _ _ __ __ __ _ _ _ __ _

Designed _ _ _ _ _ _ _ __ _ _ _ _ __ _ _ _ __ _

Checked

N MATERIAL LIST
£l ~ 3/4 DIA. STEEL | 14 — 3/4 DIA. |12 — 3/4" INSIDE
[ . . » » »
- & FIPE |CONCRETE|ROD WITH 6 NUTS|STEEL 30(1s, NoTs| DA GALVANIEED S SN
< : AND 4 WASHERS | AND 4 WASHERS |  PIPE SLEEVE
3/47 10, ppe | CU.YDS. | LENGTH [WT.(LB.)[NO. REQ.] WT.(LB.) [NO. REQ] WT.(LB.) |[NO. REQ.] LENGTH]WT.(LB.)
L Center of 3/4” dio. | sleeve 8 085 | 5-11 | 89 2 4.0 2 2.3 2 06 | 98
o bolt and 3/4” dia. & s 21" 0.96 6-7 | 9.9 2 4.0 2 2.3 2 06 | 98
1 pipe sleeve e - 24" 0.96 7=3 0.9 2 4.0 2 2.3 2 0-6 9.8
L o ) N 307 1.03 8—7 2.9 2 4.0 2 2.3 2 0-6 | 98
3|13 3 —Galvanized 367115 9-10 | 14.8 2 4.0 2 2.3 2 0-6 | 9.8
5 % | steel angle lug . j 47] 123 | 11-2 [ 16.8 2 4.0 2 2.3 2 [ 06| 98
3/4 dia. bolt 48" 1.31 12-6 | 18.8 2 4.0 2 2.3 2 06 | 98
8 | A | 8
| |
\/\ \/\ 3/4” dia. rod, threaded 7" each end
with 6 nuts and 4 washers BAR SCHEDULE
v o PIPE LENGTH| TOTAL TOTAL BAR
DETAIL OF PIPE CRADLE AND BRACKET SECTION X-X Beveled washer gy Ja. pipe pia. |MARKJQUANTITY) "er il engTr|TPE| A | B | © [TENGTHIWI(B)
in lieu of washer) 12 Xi 7 g:g 8:8 gFE
3/4" dia. x 14" bolt , 81T 7 [ 7-0 128012 [1-0]6=0 9576 | 371
Drill or punch / 1a. x % Dritl .Or pUNCh 4 1 5-6 5-6 2 —313-0]1-3
1" dia. hole / 1 d/a./ hole 1 4 36 -0 [STR
BAR TYPES Dril or punch hole = 3 11/2';:39’6 3 2 ez o6 100 SR 58-0 | 38.7
for 3/4” dia. bolt M| 7 - — 24 i f 3;8 é%o g) tg f3;:2 1-3
T ! Iy <
Straight | l ! 0] = 1 4 4=0 [ 16-0 | STR.
J ’ 7 7 | %=5 [ 26 [ 126 [SR
STR. P ) 30" = : 63-0 | 42.1
B 3/4" dia. pipe sleeve 2 ;1 g—(e) 5880 % 1—% ‘6;8 —
TPE 2 Drill or punch hole 1 3 1 5 4-6 | 22-6 | STR.
for 3/4" dia. bolt—___ 32 | 1% 36" 2| X=5 [ 2-6 [12-6 [SIR. 107-0 | 715
5 3 8 7-3 | 58-0 | 2 [1-0]6-3 :
DETAIL OF STEEL ANGLE LUG 1 0 I
DETAIL OF ROD AND WASHERS o s o T R N
Pioe Cradl c Pioe Cradl c 3 8 7-3 | 58-0 | 2 [1-0]6-3 - :
lpe tradle— Pipe Cradle lpe Cradle— Pipe Cradle 4 2 7-6 [15-0 | 2 [1-3[5-0[1-3
A N \—r;B ™ i 5 156 [2/6 [k
~ ‘ ~ W[ 2 | %=6 | 2-6 [15-0 [SIR.
£ i_h¢J—NL | o 2 £ N4 B [ |~ 3 B3 8 [7-3[580]2 [1-0]6=3 116-6 | 77.8
& x T T & ¥ LI Ny b ey 4 2 80 [16-0 | 2 [1-3[56[1-3
Q 17 Sl R S o [T 7 Sl 1[N '°
@\)v L/QD -~ | \\@ @\)' L/@ - / \@ ALL BARS TO BE NO. 4 REINFORCING BARS. ® o
W 3 NO. 4 BAR = 1/2" DIA.  0.668 LB./FT. m ¢35
@ I | B | @ O i @ 3 3 @ O ~3 &3
S) S L3 o ST S) |3 S) 6_ .5
<+ + Al L2 + <+ | L2 22
12 £ |12 12| |z |12 12| | Lz m Eo
7 N N S
o1l o |[MNo I R F= | REQUIREMENT TABLE § E
e / NE L@ NS NE R 22 X IN BOX INDICATES DETAILS WHICH APPLY TO STRUCTURE 22
=i o i —jo 2 83
18” 24" 5%
Ly A 6|3e12]6 630126 (DETAL Q) , , g2
T T T T I:]21 I:]30 e
6l Xx@e12 |6 3-0 G 3-0 BARREL iy
DIAMETER [ s [ =2
O o
FRONT ELEVATION SECTION A-A FRONT ELEVATION SECTION B-B (DETAILL R) ., =>
** Dimensions are from ¢ of pipe support. See Section X—X ** Dimensions are from ¢ of pipe support. See Section X—X I:]42 TAD o
NE100—40-005.d
PIPE §UPPORT FOR 36" THRU PIPE §UPPORT FOR 18" THRU CONCRETE:  CLASS | cuvol | b =
48" DIA. PIPE BARRELS 30" DIA. PIPE BARRELS
REINFORCING STEEL: 1B IEDoie] CONCRETE PIPE SUPPORT

DETAIL R

DETAIL Q

FOR SLOTTED FLUME

Sheet 9

=




	Design Assumptions
	Instructions
	Drawing

	Date1: 
	Date2: 
	Date3: 
	Designer: 
	Drafter: 
	Checker: 
	Title1: 
	Title2: 
	Title3: 
	SH1: 
	SH2: 
	Print note: Note:  Select pages 3 of 3 for drawing only.
	Clear Note: Click to clear all form fields
	CLEARFORM: 
	Print2: 
	people: Who (initials)
	when: When (MM/DD/YY)
	Check Box1: Off
	Check Box2: Off
	Check Box3: Off
	Check Box4: Off
	Check Box5: Off
	Check Box6: Off
	Check Box7: Off
	cls: 
	concub: 
	stl: 


